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QUESTION 1

Refer to the exhibit.

NKX9k-01-LAB§# show f£spf wvsan 10 interface fcl/12
FSPF interface fcl/l2 in VSAN 10
FSPF routing administrative state is active
Interface cost is 500
Timer intervals configured, Helleo 12 s, Dead 80 s, Retransmit 5 s
FSPF State is INIT
Statistics counters :
Number of packets received : LSU 0 LSA 0 Hello 2 Error packets 1
Number of packets transmitted : ISU 0 LSA 0 Hello 4 Retransmitted ISU 0O
Number of times inactivity timer expired for the interface = 0

An engineer is implementing Fibre Channel (FC) switching on a Cisco 9000 Series Switch, but the procedure fails with
the message "FC traffic is not being routed through the fabric". Which action resolves the issue?

A. Set the FSPF interface link cost to be less than 30,000 in the IVR path.
B. Configure the VSAN ID 10 on the link connected to fc1/12.

C. Configure the FSPF for VSAN 10 on the NX9k-01-LAB switch.

D. Set the FSPF hello interval on fc1/12 interface the NX9k-01-LAB switch.

Correct Answer: D

QUESTION 2

Refer to the exhibit.
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Router 10

E0/3

Router 11

AREA 1

Router 2

Rl0#debug condition interface ethernetl/0
Condition 1 set

R10%# debug ip ospf packet
OSPF packet debugging is on

*Feb 19 01:43:27.659: OSPF-1 PAK : Et0/0: IN: 10.2.10.2->224.0.0.5: wver:2 type:l
len:44 rid:10.0.0.2 area:0.0.0.1 chksum:E41B auth:1

*Feh 19 01:43:2%9.035: OSFF-1 PAK : Et0/0: oOT: 10.2.10.10->10.2.10.2: ver:2 type:l
len:44 rid:10.0.0.10 area:0.0.0.1 chksum:CE86 auth:1

An engineer troubleshoots an OSPF neighborship problem between Router R2 and Router R10. Which action resolves
the problem?

A. Change area ID on Router R10

B. Resolve unicast reply from Router R2

C. Resolve authentication type on Router R10
D. Change router ID on Router R10

Correct Answer: B

QUESTION 3

You upgrade Cisco UCS Director. When you power on the Cisco UCS Director VM, the websock service fails to start.
Which action do you take to resolve the issue?
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A. Resynchronize the NTP time and time zone information on each node.
B. Import the correct SSL certificates.

C. After you power on the VM, press Alt-F1 to refresh the VMware console.
D. Ensure that the websock service starts automatically after an upgrade.

Correct Answer: B

QUESTION 4

Refer to the exhibit.

event manager applet looback online override -BootupPortLoopback
action 1 syslog priority notifications msg “Switch Online”
action 2 policy-default

The EEM script overrides all events in the system policy. What should be added to the script to resolve the issue?
A. event statement

B. environment variable

C. event-default action statement

D. configure terminal action

Correct Answer: A

QUESTION 5

An engineer is troubleshooting a fabric discovery failure. Which two requirements must an engineer verify about switch
connectivity to solve the problem? (Choose two.)

A. A Cisco APIC must be attached to a spine node only.

B. A Cisco APIC must be attached to leaf nodes.

C. Spine nodes must connect to other spine nodes.

D. A Cisco APIC must be dual-attached to two separate spine nodes.
E. Leaf nodes must connect to spine nodes only.

Correct Answer: BE
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